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WEST BENGAL STATE UNIVERSITY 

B.A./B.Sc. Honours 5th Semester Examination, 2021-22 

ECOADSE02T-ECONOMICS (DSE1/2) 

Time Allotted: 2 Hours  Full Marks: 50 

The figures in the margin indicate marks of question. pািnক সীমার মধ°s সংখ°ািট pেűর মান িনেদ�শ কের।  
Candidates should answer in their own words পরীkাথ�ীেদর িনেজর ভাষায় যথা সmব শbসীমার মেধ° 
and adhere to the word limit as practicable. উtর িদেত হেব। 

1. Answer any five questions from the following:  
িনmিলিখত �য-�কােনা পাঁচিট pেűর উtর দাওঃ 

2×5 = 10

(a) State the difference between horizontal equity and vertical equity in income tax.  
আয়কেরর �kেt অনুɛিমক সমতা এবং উlm সমতার পাথ�ক° িববৃত কেরা। 

(b) What is Laffer curve?  
ল°াফার �রখা িক ? 

(c) What is deficit financing?  
ঘাটিত ব°য় pিkয়ািট িক ? 

(d) What is progressive income tax?  
pগিতশীল আয়কর কােক বেল ? 

(e) What is the problem of free rider?  
িবনা ভাড়ার যাtীর সমস°ািট িক ? 

(f) Examine the economic grounds of government expenditure on subsidising 
primary health care in a market economy.  
বাজারিভিtক অথ�নীিতেত pাথিমক sাs°খােত সরকাির ভt�িক pদােনর অথ�ৈনিতক যুিk আেলাচনা 
কেরা। 

(g) Define public debt.  
সরকাির ঋেণর সংjা দাও। 

(h) What is meant by market failure?  
বাজার ব°বsার ব°থ�তা বলেত িক �বাঝায় ? 

  
2. Answer any four questions from the following: 

িনmিলিখত �য-�কােনা চারিট  pেűর উtর দাওঃ 
5×4 = 20 

(a) Explain the concept of Fiscal and Revenue deficit in a budget.  
বােজেট িফসক°াল ঘাটিত ও রাজs ঘাটিতর ধারণা ব°াখ°া কেরা। 

(b) What are the characteristics of public goods? How does it differ from that of 
private good?  
সরকাির dেব°র ৈবিশŶ°gিল িক িক ? �বসরকাির dব°gিলর �থেক �সgিল িকভােব আলাদা ? 
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(c) Discuss briefly the solution proposed by Lindahl regarding the optimum 
provision of public good.  
সরকাির dেব°র আদশ� সরবরােহর �kেt িলনডােলর psািবত সমাধােনর আেলাচনা কেরা। 

(d) Examine briefly the role of public debt to finance the government expenditure.  
সরকাির ব°য় িনব�ােহর �kেt সরকাির ঋণ ব°বsার ɛিমকা সংেkেপ আেলাচনা কেরা। 

(e) On what ground would you justify benefit approach to taxation?  
িকেসর িভিtেত সুিবধার িভিtেত করpদােনর নীিতেক সমথ�ন করা যায় ? 

(f) Distinguish between internal and external debt.  
অভ°nরীণ ও বািহ°ক ঋেণর মেধ° পাথ�ক° িনণ�য় কেরা। 

  
3. Answer any two questions from the following: 

িনmিলিখত �য-�কােনা dিট  pেűর উtর দাওঃ 
10×2 = 20 

(a) “The equal sacrifice principle implies progressive taxation” — Do you agree with 
this view?  
‘‘সমান ত°াগনীিত pগিতশীল আয়কর িনেদ�শ কের’’ —  tিম িক একমত ? 

(b) Derive the condition of Pareto optimality of resources in the presence of public 
good.  
সরকাির dেব°র উপিsিতেত সmেদর ‘প°ােরেটা’ আদশ� বĊেনর শত�gিল িনধ�ারণ কেরা। 

(c) Explain with the help of a suitable model that intergeneration shifting of public 
debt is not meaningful at all.  
একিট উপযুk মেডেলর সাহােয° �দখাও �য সরকাির ঋেণর �বাঝার আnঃpজn পিরচালেনর ধারণািট 
আেদৗ অথ�পূণ� নয়। 

(d) Write short notes on the following: 
সংিkp টীকা �লেখাঃ 
(i)  Fiscal federalism in India 
 ভারেত রাজs ৈমtীতnt ব°বsা 
(ii)  Coase Theorem. 

 �কাজ-এর উপপাদ°। 
  
 N.B. : Students have to complete submission of their Answer Scripts through E-mail / Whatsapp 

to their own respective colleges on the same day / date of examination within 1 hour after 
end of exam. University / College authorities will not be held responsible for wrong 
submission (at in proper address). Students are strongly advised not to submit multiple 
copies of the same answer script. 
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